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The maximum mark for the examination paper is 60 marks, and the mark obtainable
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Instructions to the candidates:

& Clarify your answer with the suitable sketehes as you can,
& Please use a pen or heavy pencil to ensure legibility.

& Please attempt all questions.

Questiok KumBER ONE [35 Marks]

1. With neat hlock 'diagram explain érchitecture of 8086 microprocessor. Then, explain the
various string related instructions in 8086 microprocessor.

2. Assume the values of the following registers are: GS= 1000H, S$= 2000H, DS= 3000H,
ES= 4000y, SP=0002y, BP=ﬂ_BBUH, BX=0001y, SI= 0001y, and Di= 0001y,
what is the physical address ef a memory accessed by the follewing instructions (if it
is word, give the addvess of the st and 2nd bytes). Wil one of the following instructions
override the data in the memosy by another one? Why?

a) MOV [BX], AL h) {BP], CX
¢) PUSH DX d) MOV [BX+SIJ, AL

3. Cae a descriptor that descries 2 memory segment that hegins at location 210000y and
_ ends at location 21001Fy. This memory segment is a code segment that can be read. The

- descriptor is for an 80286 microprocessor. After that, use the descriptor definition to
tecode the appropriate descriptar shown in below figure.
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4, 1 the 80386 microprocessor sends linear address FFIG3FFEY to the paging mechanism,

explain how 32-hit phySicai address is generated with paging enable. Note that, the
cortent of CRO=8000FC24y and CR3= 00003AFBy.
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1. I BH =72 and DH = FF, list the contents of each register and the contents of each flags
after the following tasks: a) XADD BH, OH, and h) CMPXCHG BH, DH.

2. Select the corvect instruction to perform each of the following tasks: =
a) Invert the leftmost 10 bits of BX register without changing the rightmost 6 bits.
h) Move the DH register right one place, making sure that the sign of the result is

the same as the sign of the original number.

3. What is the purpose of the direction flag? Hereafter, describe how the "LODSW" instruction
operates. Assume that D=0. Si=1000, and DS=1000.

4. What registers are placed on the stack by the PUSHA instruction? In what orde:?

5. Cempare the operation of MOV Di, NUMB instruction with LEA DI, NUMB instruction.

6. is it possible to have two different machine codes for the same instruction? Give the

assemhly mstrur.tzun encoded by the following:
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if MOV EAX, [EBX--4*ECX] appears in a program for the Pentium microprocesser
operated in the 16-bit mode, what is its machine language equivalent? -
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000 | EAX | EAX-+08 | EAL+d32 | AL | EAX | [BX-+S(] | (BX+SI+08] | (BX+SI+a1g]| AX
001 | FGX | FOXK+d8 | ECK+932 | CL | ECX |j[BX+DN | [BX+Di+a8) | [BX-+Di-+d181| CX
010 | EDX | EDX-68 | EDX+d32 | DL | EDX |[{BF-+Si] | {BP+Si-+d8] | [BP-+Si--dif]

i | EBX | EBX+d8 | FEBX+432 | BL | EBX | (BP+DY | [BP+Di+d% | [BP-+Di+di8]
sog | Scae " S48 | [S-+di6]
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